Test Booklet Code & Serial No.

JYTIAhT hIS o HHT B

Paper-I1
SOCIOLOGY

Signature and Name of Invigilator Seat No.
1. (Slgnature) ......................................... (In ﬁgures as in Admit Card)
(NAME) .., Seat NO. ...voveeeeeeeeeeteeee et
2. (Signature) .......cccceeeeveivicininiecenenns (In words)
(NAME) ..o OMR Sheet No.
JUN -14220 (To be filled by the Candidate)
Time Allowed : 2 Hours] [Maximum Marks : 200
Number of Pages in this Booklet : 32 Number of Questions in this Booklet : 100
Instructions for the Candidates Termeatardt HETATAT T
1. Writ}:} ytour S%eta}f.No. and OMR Sheet No. in the space provided 1. qfemeff= oTae oeH SHiE O mw I forgre.
on the top of this page. e e o . AR
2. This paper consists of 100 objective type questions. Each question :
will carry two marks. All questions of Paper II will be compulsory. 2. T TR 100 W T 3TRA. T TP g o
3. At the commencement of examination, the question booklet aﬂ%ﬁ a Wqﬁ%ﬁ‘]ﬁ‘gﬁw Trefan sifart e;ﬂ%‘
will be given to the student. In the first 5 minutes, you are 3 qﬁﬁr{l}awmwﬁnmﬁvﬁm Wﬁﬁw 5
requested to open the booklet and compulsorily examine it as ’ S & ;
follows : 2 RN SEEN At } T
@) To have access to the Question Booklet, tear off the TEreAd.
paper seal on the edge of this cover page. Do not accept @) YYAUTNHT STSTATHIS! JTUTheR ATeeicl Hiet SISTd.
a booklet without sticker-seal or open booklet. et Tl foran S Saeeel Yeg R feeTE T
@) Tally the number of pages and number of questions in . .
the booklet with the information printed on the cover @@t) &e ISR TS e dTd N 95. b THU 1{%
page. Faulty booklets due to missing pages/questions EEER A ERIEETI) ThU pPreiEikere) T&dlegd TR,
orhquedstions repea;ed ltzlr notbin serial grde; or any g@aﬂ:ﬁ 3T/ FHT T ST/ I Waﬂ:{
other discrepancy should not be accepted and correct STl TR ammmm
booklet should be obtained from the invigilator within Wﬂﬁ
the period of 5 minutes. Afterwards, neither the Question S cIe E! TSIl A % S {i greafren AT
Booklet will be replaced nor any extra time will be =TS, TR TYTATRT IGe[T THeeUR ATET T8 eeel
given. The same may please be noted. Elceal THeUR 8l ar=it Exp! Taeneni= Ae =are.
(@ii) After this verification is over, the OMR Sheet Number e TEaTE ‘TW  ERITED
should be entered on this Test Booklet. (@) ki % S | il
4. Each question has four alternative responses marked (A), (B), 3?[@3‘-{1’{ Faf>reh = For fererem.
(C) and (D). You have to darken the circle as indicated below on 4. Tk GG (A), (B), (C) sfor (D) 39N R fasmeq Sw feeh
the correct response against each item. 3TMRd. Tdtel T AT ThTAT Wil SIHTaTqHTol 33k qor

Example : where (C) is the correct response.

5. Your responses to the items are to be indicated in the OMR @ . @
Sheet given inside the Booklet only. If you mark at any place .
other than in the circle in the OMR Sheet, it will not be evaluated. 5. RIFEEE EERIS IR ISR 3‘}‘1‘?3‘“ mm

6. Read instructions given inside carefully. TR oot fofeeiel S| aureed STum @i

7. Rough Work is to be done at the end of this booklet. 6. 39 @WWW‘@WW

8. If you write your Name, Seat Number, Phone Number or put 7. FITUH =T Tae SSeedl S I=g1 IHEE Fed Y HIS.
any mark on any part of the OMR Sheet, except for the space 3. SR S0 311@ AR WA Foren fowTon SAfaies TR FoeT
allotted for the relevant entries, which may disclose your . . .
identity, or use abusive language or employ any other unfair . . :
means, you will render yourself liable to disqualification. Eﬁ?ﬁ‘ﬁ SGegT ST ST ST+ R ﬁmsm

9. You have to return original OMR Sheet to the invigilator at the Fererel ety feneaten wier s atfeavard Jga.
end of the examination compulsorily and must not carry it with 9. TN HYeR ety Hs a0 JUH.SAT ISR THAEThIRS
you outside the Examination Hall. You are, however, allowed T hHT TR STI% amﬁ,u*r—rtrﬁaﬂa aﬁqqaqr{ IS
to carry the Test Booklet and duplicate copy of OMR Sheet on %Fﬁ-q Tq STYITeRISR oAy faaneat—n war IR,
conclusion of examination. 10. &5 Fres foran e atel S9=TS a9 4.

10. Use only Blue/Black Ball point pen. = % FR 3 7
11. Use of any calculator or log table, etc., is prohibited. 11. < T

12. There is no negative marking for incorrect answers. 12. W SEREIC O ST SITOTR e




JUN - 14220/I1—B



Note

Bkl

JUN - 14220/I1—B

Sociology

Paper II

HHISTIMTE
QoateRt 11

Time Allowed : 120 Minutes]
: This Paper contains Hundred (100) multiple choice questions. Each question

[Maximum Marks : 200

carrying Two (2) marks. Attempt All questions.

U 3TRA. W UEA dredl

: I YETUAR TS THU TN (100) TgIART Y9 ol sed. Yoo WeAen g (2)

Which one of the following cities has
moved from colonial notions of
“pensioners’ paradise” to the
globalisation driven “silicon valley

of India” ?
(A) Hyderabad
(B) Bengaluru
(C) Pune
(D) Dehradun

Which view focuses on society as
fundamentally a “patriarchy in
which men dominate and oppress

women” ?

(A) Post-structural feminism
(B) Feminist existentialism
(C) Liberal-feminism

(D) Radical-feminism

TACTIRT IV e & STEdaa GRORT
‘frgwnia AgTad’ @ Smfas e
3MTeTe ¢ Raren “faefierta el A
sleeret s ?

(A) TR

(B) oe®

(C) qul

(D) <&

AN A b fad b ¢
Llcdletten] enlVldl gI%enlU Hadd: -~ AHIs

~

BT JESeh 3118 S Feay J=ied 3ol
aifor faeaus &Idl’ Irax GhTeT
Tehdl ?

(A) IR HEAER]T SR

(B) S1ficaast Sag
(C) SERHEAER] e
(D) R Siarg

[P.T.O.



Match List I with List IT and select
the correct answer from the codes
given below :

List I (Thinkers)
(@) S.C. Dube
(b) S.C. Roy
(¢) D.N. Majumdar
(d) V. Elwin

List II (Tribes)
(1) Khasa
(2) Baiga
(3) Munda
(4) Kamar
Codes :

(@ b)) © ()
A @ 3 @O @
B 3 @ @ @
©c @2 & O @
O QO 2 6 @

In elementary structures of kinship,
the alliance is based upon :

(A) Rules of exogamy
(B) Positive marriage rules
(C) Negative marriage rules

(D) Generalized exchange
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et 1 3Tfor et I1 Heftel Seehr=a SISl

Soedll o e feeiedn HendieRlqd ar
ERIAECEIE
Tt 1 (foramtaa)
(@) T 4. gd
(b) TH. . T
(¢c) i T HS[HIR
(d) =& T
ardr I (St

(1)
2)
3)
4)
Hehdieh :

(@ b)) () @
Aa @ 3 O @
B 3 2 @ @
© 2 & 1 @
D 1 2 @ @
TGS AT TefHes TEd ot & hEeR
eRa e/™d ?
(A) wfefdarem frm
(B) foomer™ WerHes f7om

(C) foarem™ TrHs |

(D) Am=ieha fafa
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Oriental despotism is the feature
of :

(A) Asiatic Mode of Production
(B) Feudal Mode of Production
(C) Primitive Mode of Production
(D) Ancient Mode of Production

Who is the author of the book “The
Brave New World of Work” ?

(A) Anthony Giddens
(B) George Ritzer
(C) Ulrich Beck

(D) Pierre Bourdieu

Which economic system is based on

market exchange principle ?
(A) Primitive economies

(B) Modern economies

(C) Rural economies

(D) Small economies

The Rights of Persons with
Disabilities Act in India was passed

in which year ?
(A) 2007
(B) 2011
(C) 2013
(D) 2016
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(A) TYTAE IcqeA gt
(B) GISTHTE ScUed Gl

(C) offeH IR Ugdl

(D) 9=IA 3ceT g5l

“T SE 7 ace IATh Toh A1 KR
L I AR ?

(A) Tt fire
(B) it fegr
(C) 3= &
D) R 5

RV TR o IR faf T awame]
amenfia o19d ?

(A) 3ffcH sqefezreren

(B) 3MYfTeh tefeaaeen

(C) T SfefezrerEen

(D) &M SAefeaEe

IRANTS fahanT SJwi= 5ok oo

HTIS] ohegl THd Tl 2

(A) 2007
(B) 2011
(C) 2013
(D) 2016
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10.

Given below are two statements, one
is labelled as Assertion (A) and the
other as Reason (R) :
Assertion (A) : Family is unable
to provide care and support to
elderly.
Reason (R) : Family has shrunken
in size.
Select the correct answer from the
codes given below :
Codes :
(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)
Both (A) and (R) are true but
(R) is not the correct explanation
of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true
Match the List I with List II by
choosing the correct answer from the
codes given below :

List I (Books)

(@) Dynamics of Cultural Change

(B)

(b) Analysis of Social Change
(¢c) Africa in Social Change
(d) Asian Drama
List II (Authors)
(@) G. Myrdal
@) P.C. Lloyd
(z11) B. Malinowski
(tv) G. Wilson
Codes :
(@ @) () (@
A @ @) @G Go)
(B) Gv) @) @) @)
(C) @) Gi) Gv) @
D) G @) G @)

10.
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et g faum foeft smea. <! T
e (A) 3118 701 R e R
(R) e

YiUTET (A) : THERAT HAT ST SR
QUAT Feadedl TEHY 3R,

HRUT (R) : F2d SR TeM et

3R,

TTeld HohdiehTdeh! SRISX Hohd Tarel :

(A) (A) =707 (R) et s 3T1ed for
(R) ¥ (A) I I7g TEHIT TR

(B) (A) U1 (R) Sl SRIeR 3Ted qUl
(R) ® (A) 9 41T A0 TR

(C) (A) ® =R 318 901 (R) I 3R,
D) (A) I% 3¢ 90 (R) SR 3R,

SN

et 1 amet IT 3 et oA1for @t foeten
HohdihmYA AT IR erer
&t T (Tieh)
(@) SEHAMHFE ATh Hoeokd o
(b) AT 3w AT o9
(c) STHIshI 39 TR =9
(d) TfeET g
et 11 (SiEeh)
G) . fueta
(@) . 9. drs
(iii) s HeAaeht
(v) <ft. faeem
Hehdiah ¢
(@ b)) @ (@
(A) @ @) @) (o)
B) Gv) @ @) G
(C) @) @) Gv) @
(D) @) Gv) @) @)




11.

12.

13.

Given below the two statements, one
is labelled as Assertion (A) and the
other as Reason (R) :

Assertion (A) : Maharashtra state
has the largest number of slum
dwellers in India.

Reason (R) : It has the largest
number of urban dwellers.

Select the correct answer from the
codes given below :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

Both (A) and (R) are true but
(R) is not the correct
explanation of (A)

(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true
Which Anthropologist has

differentiated between folk
community and urban community ?

(A) Robert Redfield
(B) Radcliffe-Brown

(B)

(C) Bronislaw Malinowski
(D) Claude Levi-Strauss

Which concept of Darwin suggests
that certain social characteristics
played key role in the survivability
of groups in the natural environ-
ment ?

(A) Human Ecology
(B) Natural Selection
(C) Human Environment

(D) Existential Dualism

11.

12.

13.
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et g faum ol oed, T
QiHW(A)W%a@mWW
(R) Hel¥rd 3.

PIGLICS] Q) : ﬂ-ll{cucucfi EIREECCR
T Sk Fatd SR S8 HeRIS

T 3R

®RUT (R) : W Falq S AR
TAhEE 3.

Tt foied HehdinT=A1 STER 3T 3aR
ferr

(A) T (A) 30T (R) & 3T 3T ST
R) ¥ (A) 9 99 TR0 ST

(B) T (A) 30U (R) § 3T 3Med
% (R) & (A) ¥ I4r7g TIE R0l

(©) (ﬁ%%waﬁm@m)%w
(D) é?é%%goﬁa%mmm%w

ik FESE S0 el THEE A <

TASEME Tl IV AT

holdll 38 ?

(A) T Tefthes

(B) Sfr® oA

(C) St Hfctfetent

(D) g AR

STt I Heheqdl Faad i, el

qrfSes ofrse= gfHent & it

ﬁq?ﬂw AT RSl Hewarst
?

(A) HEel IREETS
(B) “=fife fars
(C) HHel TFieR

(D) I <=

[P.T.O.



14.

15.

16.

Gidden’s structuration theory, is the

theory of the relationship between :
(A) Structure and Agency

(B) Agency and Structure

(C) Actors and Agency

(D) Culture and System

India gets maximum share of her
GDP from which of the following

sectors of economy ?
(A) Agriculture

(B) Industry

(C) Service

(D) All share equally

In which of his books Foucault
uses the term ‘gaze’ as a form of

knowledge ?

(A) The Birth of the Clinic
(B) Madness and Civilization
(C) Discipline and Punish

(D) The History of Sexuality

14.

15.

16.
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fire=q ar=n "y=reeu fagema =&

.......................

(A) Tt &
(B) S&T &
(C) Tar &
(D) ¥d &5 HAM FHUM

ekl ATAT HIVIAT T o [T

JHR RUA ‘TEerd TR g OE

IIRAT 7

(A) T 99 3k < Tl

(B) W= g i fafear=m
(C) fefawim i wiwm
(D) < et e Tageifaet




17.

18.

19.

20.

The productive organization of land,

in recent times, does not consist of

(A) Family labour
(B) Jajmani system
(C) Hired labour
(D) Tenancy

Tebhaga movement was mainly

aimed at :
(A) Social reform

(B) Revolutionary transformation of

the whole society
(C) Reduction of land taxes
(D) Fair price for the crops
Who was of the opinion that
‘revolutions are locomotives of
history’ ?
(A) E. Kant
(B) K. Marx
(C) G.W.E. Hegel
(D) F. Engels
Which of the following forms is not

an emerging form of family ?
(A) Single parent families
(B) Stem families

(C) Reconstituted families

(D) Childless families

17.

18.

19.

20.
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ST Scafed Teeaaey Afdass=a
o1 HEEY e

(A) pearda sifheh

(B) TSI SHaE

(C) W=t =k
(D) Fa

TN Fesaesi=l THE 3aaY

.
(A) T gEmR

(B) HYUl THNTE ShifqehRl qRa

(C) TAEFATd hyrd

(D) fuerrETer arsTet ferAd

TeTedeh! o= Ta 3T TR i ST

g sfaeame T=eH SO S 2

(A) 2. wH1UE

(B) °h. W

(C) . &= 3 B
(D) Th. Y

a_ N A i N N
Ylcdlddlenl pedl=l nlldl HenlX "oqiq

3T IR ThR AT 2

(A) THA UIAH Fed

(B) T Fd Fed
(C) gRfad e

o
[

oY L.
CHRRETE

D) ATH

[P.T.O.



21.

22.

23.

According to whom “The spread of
mass media and mass entertainment
cause the public sphere to become

largely sham” ?

(A) Louis Althusser
(B) Jurgen Habermas
(C) John Thompson
(D) Daniel Learner

Which state has maximum area

under forests ?

(A) Madhya Pradesh
(B) Odisha

(C) Andhra Pradesh
(D) Chhattisgarh

Which one of the following is true

about the open-ended questions ?

(A)

Difficulty in raising an issue

(B) Not easy to get free response

()

Simple and easy to analyze the

responses

(D)

Fixed structure for respondents

to reply

21.

22.

23.
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“SMYER T@TeH STl S TR
thellaT s ATaSieh STIHTT @M o a

e oY faum vl bt ?

(A) T FYH
(B) S gTsRH™
(C) S Arqgd
(D) =FEa &R

HIVT TIHED FA(feeh S S5Thes
e ?

(A) ALY
(B) sfifesm
(C) sTyw™
(D) BETS

G JEATEEd STeerden! hiod faem

TR 38 ?
(A) 939 ToarRvgmed Jod ASH0
(B) e yfqde fHesfan sterere 319d

(C) Yfauer foveismT SivarT 9y o
gay

(D) YfadeshT=a I9UEel et =

10



24.

25.

‘The field of sports is often dominated
by the males’. This shows ............ .

(A)

There is connection between

sports and patriarchy

(B)

Women are weaker sports-

persons

(&)

There is connection between

sports and politics

(D)

Men are better sportspersons

Structural forms as analysed by A.R.

Radcliffe-Brown are .................... .

(A) Abstract forms of social
structure
(B) Concrete forms of social

structure

(&)

Integrative forms of social

structure

JUN - 14220/I1—B

24, ‘WISIEF T e GEUH O STHer]

25.

(A) wreres o fages Jr=amd TWErR
ey 3TRd

(B) o swvcpad ware 3R

(C) RIS 0T TSROl AT T
R

(D) q&o & Ak AN Eedlg Sed
T, TR, YSFA SIS AT Faveifi heredt

(A) HHIRSh SEH= 3d &9

(B) WM §=-< i &9

(C) HHIfSIeh =Y TehifcHeh ®9

D F ti 1 f f ial .
(D) Functional forms of socia D) ; S 3 =1
structure
96. What was India’s rank in the | 26- 2018 W& wRars femumdfersesh fdemen
Gender Related Development Index o fohael et ?
in 2018 ?
(A) 125
(A) 125
(B) 130
(B) 130
(C) 131 (C) 131
D) 134 (D) 134
11 [P.T.O.



27.

28.

29.

Which among the following is a
dominant caste ?

(A) Vokkaliga
(B) Kansara
(C) Banjara
(D) Matang

Match List I with List II and mark
the correct answer from the codes
given below :

List I
(@) Preparation of code sheet
(b) Retesting the codified data
(¢) Preparation of code book
(d) Testing of code book
List II
(i) Stage I
(i) Stage II
(iii) Stage III
(lv) Stage IV
Codes :

(@) ()
A @ @
(B) (i) (v)
(C) G(v) i)
D) i) (v)

) ()
@) (o)
@@ @
@) @
@ @)

‘McDonaldization’ term is coined

by :

(A) Giddens
(B) Sassen
(C) Ritzer

(D) Coser

27.

28.

29.

JUN - 14220/I1—B

WefteTdehl FTet ST ShIoRT 2
(A) ST

(B) &=

(C) =9

(D) =

ot 1wl qege A 11 wefie
T S Bedl feetean 9 S
Hehdlehlgqd watr=t e 4 :

I |

Gohd ol qIR 0l

(@)
)
(c)
(d)

N

Hohdihd AeaTEl gAarEo S0

Hond &R qaR 0]

Hohd EIhTEl AT 0l
et 11

(@) g I

(ir) ST 11

(117) 3T III

(tv) AgqEA IV

Hehdieh :

(@) (®)
A @ @)
(B) @) (o)
(C) (v) )
D) @) (o)

b2

(A) fire
(B) HEH
(C) Rezr
(D) =Tz

B EPENE|
I o Shet.

() (d)
@) ()
@) @)
@) @)
@ (@)
I
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30.

31.

32.

33.

Habitus is not ..................... .
(A) Structured

(B) Durable

(C) Permanent

(D) Inculcated

In which year was ‘The Protection
of Women from Domestic Violence

Act’ implemented in India ?
(A) 2003
(B) 2005
(C) 2006
(D) 2011

Who popularized the phrase
“Tragedy of Commons” ?

(A) Garret Hardin
(B) Thomas Kuhn
(C) Jean Baudrillard
(D) John Thompson

Which one of the following social
groups is not experiencing the state

of social exclusion ?
(A) Indigenous people
(B) The poor

(C) Gated communities

(D) The homeless

30.

31.

32.

33.
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(A) fea
(B) fear=s

(C) <hTIH

(D) HATR 3HAA

TRATT IV T ‘ hieforeh fEaTamrargH
T &I HIvAETed A= =
TGS Sheft Teft 2

(A) 2003

(B) 2005

(C) 2006

(D) 2011

‘IS AR HIF' B AEIER I
TR {Ta ohell ?

(A) e =IfeA

(B) 99 hed

(C) i sifgen

(D) 9 g9rEa
WEATIeh! IVl FHITSh THE |
gfSiaar sTvad @ ?

(A) A &
(B) Wil <

(C) W-Wfea 9g
(D) =R

13

[P.T.O.



34.

35.

36.

According to Weber which of the
following is the type of rational-legal
Authority ?

(A) Feudalism

(B) Bureaucracy

(C) Autocracy

(D) Slavery

Structured interview is used for :
(A) Life History

(B) Large Scale Data Collection
(C) Analysis of Images

(D) Creation of new theory and

method

Which one of the following is not a

characteristic of survey ?

(A) It is based on a representative

sample of a population.

(B) It is based on data directly

sought from the respondents.

()

It is concerned with more

general and abstract problems.

(D) It covers large number of
respondents compared with

other methods

34.

35.

36.
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A=Al Ad dlfcheh ShIICINR SRR

TCATeUeh! IVl JHR AT ?
(A) FISTHIE

(B) Al

(C) TRepw @

(D) T

TR e & heMEe! START STUet

S ?

(A) Sfter gfier

(B) IS YA A= Heher

(C) wfamr foreersmm

(D) o fagra onfor ggdi=n fafid
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TE 2
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ERAA 3T
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37.

38.

Which of the following is the least

developed welfare state ?
(A) Sweden

(B) USA

(C) Finland

(D) France

Who coined the term ‘mores’ to refer
to norms that are widely observed

and have great moral significance ?

(A) Pierre Bourdieu

37.

38.
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fa o

IEEJISHK|

G hivTal 931 Fatd ]
FHAERR] T 38 ?

(A) w=ited

(B) 3.¥8.T.

(C) fries

(D) & A

IS YHUER Yefad  STHO=IT  Sfor
He<ar=] Aifade A=A Heuid ‘ dAlehrdt’
I T fafddr i Shet ?

A) fr¥ 959
(B) W.G. Sumner B) S
(C) C.H. Coole
g © . @ T
(D) Max Weber .
(D) HeRH e
39. The Supreme Court of India .
P 39. YRATAT Waled AN 9RAE T8
invalidated a part of Section 377 of . .
the IPC d iminalizi 0 HIEAAT 377 heAHIdd HIITAT 34%%18135
e ecriminalizing ?
..................... qu -%J||J:\|ch{U| a')Q:I ?
(A) Attempt to suicide 3
(B) Prostitution (A) G T
(C) Homosexuality (B)
(D) Human trafficking ©
40. ‘Interpretivism’ is the position (D)
i e . 40. STEEaI B it 3T
(A) Epistemological (A) SHHETIE T
(B) Theoretical (B) ﬁiﬂm
(C) Ontological (C) FATHHTETRTS T
(D) Methodological (D) YRS
15 [P.T.O.



41.

42.

43.

Which of the following statements
about honour Kkillings is not
correct ?

(A) Are different from dowry deaths
(B) Are not recognized by law

(C) Are mostly directed against
women

(D)

Occurs in South Asian countries
only

Two statements are given, one is
labelled as Assertion (A) and other
as Reason (R) :

Assertion (A) : Reservations in
jobs help the SC, ST to improve their
situation.

Reason (R) : In a democracy equity
is a must to ensure equality.

Select the correct answer from the
codes given below :

(A) Both (A) and (R) are correct and
R is the correct explanation
of A

(B) Both (A) and (R) are correct but
(R) is not the correct explanation

of (A)
(C) (A) is true, but (R) is false
(D) A is false but (R) is true

Which of the following books is not
written by K. Mannheim ?

(A) Diagnosis of Our Time
(B) Structures of Thinking
(C) The Sociology of Knowledge

(D) Conservatism
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43.
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AR Torfam=a Hevld Tefidis! Iv
fau s=R & ?
(A) TS ST ATTes 3T

(B) A | AR

(C) dgdsk da foraifaes o&d
(D) ohered Tfequr SRS QRMHEA *ed

Tt g faum foeft omRd. T o
Jfques (A) ST W R FRU (R).

fqureT (A) : RUAETA  STRETUMeS
SIYfad Sdl-SHAT &= aRiEet
GYRTAEE FEd B

SHIUT (R) : ChIMEIHES THMC @it
SIS G aeg SAEvIS 3R

@il HohdishlUeh! SRIET Ik ol

(A) (A) U1 (R) St SIeI 3ATed STIUT
(R) § (A) ¥ 9179 TR0 3R.

(B) (A) 37for (R) Sl SI&R 3Ted 901
(R) ® (A) 9 41T TSR0 ATal.

(C) (A) R ¥ Wy (R) IF 9%
D) (A) TF e R (R) TR .
ETeTeTdeh! IV J&ieh oh. HAGEH AT
fafeeht & ?

(A) SHAIMNE A & 2L

(B) waad 3w fufeRm

(C) <t Aifvrsterst sitwm et

(D) FH-eredfeem
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44.

45.

46.

According to Durkheim what is the
subject matter of Sociology ?

(A) Social Facts

(B) Social Actions

(C) Social Systems

(D) Social Patterns

Which of the following is not true
about the sample units ?

(A) Sample units must be chosen in
an objective manner

(B) They must be independent of
each other

C)

Once selected, they cannot be
discarded

(D) They must be interchangeable
Who among the following propounded
the Alliance Theory ?

(A) A.R. Brown

(B) Claude Levi Strauss

(C) B. Malinowski

44.

45.
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UM AT T TSRS ST ATH oo

& e ?

(A) dmEISTeR =

(B) HrHtfster fshan

(C) | Hawe

(D) wEIfSTh &9

THAT TehahTTT TeieTdeh! v faem

S AT ?

(A) SIS YU THAT Teheh fHared
EIESK

(B) U iR STacied Hmed

(C) THel HasHH® 4 E && -9d

(D) T TCATIRA Hal 3Tet ifest

It fagia wreliciisht wIo wear ?
(A) T 3R sTeA
(B) File WRl-Rd

(D) F. Meyer (C) =it. Hierreeehi
47. Which one of the following (D) TH. AR
statements is not correct ? 47. Weteden! v faud ser e ?
(A) Ethnomethodology examines (A) c'l\lq'»qfkﬁlclﬂlﬁll%ﬂ ‘ml*%\qd«m, T
the ‘folk’ methods S
(B) Ethnomethodology challenges N ' . ~ .
existing concept of objective (B) CARASHARIE SIS A=
reality TAHE Fehodell 3T <.
(C) Ethnomethodology uses (C) ewugerdiene  faagarcas
interpretative approach rather
gftehMTUaS sTaedeh giteehMm=T
than normative approach
(D) Ethnomethodology emphasizes AR .
on study of macro structures in (D) TIRIYSEATSTE AN T
society T S 7eE ad-
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48.

49.

50.

51.

National policy on older persons was
announced in India in which year ?

(A) 1996
(B) 1997
(C) 1999
(D) 2001

Who understands actions in terms
of the subjectively interpretative
meaning of Social Action ?

(A) E. Durkheim
(B) V. Pareto
(C) T. Parsons
(D) M. Weber

“The process by which actors fail to
recognise that it is their labour that
gives the commodities their value”,
is termed by Marx as :

(A) Fetishism
(B) Emancipation
(C) Socialism
(D) Contradiction

The process of inculcation of

norms, values and culture is

known as .....ccceeeeernnennn .
(A) Secularization

(B) Sanskritization

(C) Socialization

(D) Westernization
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I T YRAT TRREESE TR
R0 SER S ?

(A) 1996
(B) 1997
(C) 1999
(D) 2001

TS Faran Y SAfFITS ST
I TSI el TS SUAHIS! vt
(A) 3. e

(B) =I. Wl

(C) 3. urd=

(D) TH. IR

"1 gfshae SRl Tl SN WA
FYFE ST @ gfshden
Y U,

(A) TEEH

(B) el

(C) HHISER

(D) faRienymd

THIUTR, Fed ST W&ahd! AR foa-

JUIT=A] Qrghaqﬂ .....................

e .

(A) ez
(B) HEFTRT
(C) HTHIISThIhToT
(D) TEATRLT
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52.

53.

54.

55.

Which one of the following measures
of central tendency is a positional
average ?

(A) Mean

(B) Median

(C) Mode

(D) Both (A) and (B)

K. Mannheim distinguishes between
two types of ideologies. Which are
these two ideologies ?

(A) Total-conception and Partial-
conception

(B) Democratic and Authoritarian
(C) Egalitarian and Non-egalitarian
(D) Radical and Conservative

Who wrote about ‘Death of the
Social’ ?

(A) Cooper

(B) Foucault
(C) Merton

(D) Baudrillard

Who argues that myths can be a type
of speech through which structural
principles could be discovered ?

(A) A.R. Radcliffe-Brown
(B) P. Bourdieu

(C) M. Foucault

(D) C. Levi-Strauss
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55.

JUN - 14220/I1—B

EeTeTdeh] hIod AT § Shald Wil
T T 3T ?

(A) \&H

(B) HeA

(C) dgcdsh

D) (A) 9 (B) g=I

oh. HABREH TF Y=l foamyoneiidia
Tirar <eiferar. < faamyoned o ?

(A) THY Gehodd AU ¥R Hehodd
(B) reheTRiamel for Felehorenat
(C) woamerat sTfor forsarenst

(D) SR AT FATH!

‘U Iiw < HEta' ArfasAl iUl
fafea ?

(A) PR

(B) Fehl

(C) w&H

(D) siffget

e & T YehTT=l SIT0f 3T IThd i
ST HISHIQT SaAcHs dearal Y
Bqel ST Yokl 319 fqare hioft shal

e ?
(A) T 3. (ESfHTh o=
B) 9. g

(C) TH. Fenl
(D) €. wed-wr™
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56.

57.

Match the List I with List II and
select the correct answer from the
codes given below :
List I (Thinkers)

(@) A. Radcliffe-Brown
(b) B. Malinowski
(¢) T. Parsons
(d) R. Merton

List II (Perspectives)
(1) Cultural Functionalism
(2) Analytical Functionalism
(3) Empirical Functionalism
(4) Structural Functionalism
Codes :

(@)
(A) (2)
(B) 3

(®)
3)
(4)

) (@)
1 @
1) (@)
< @ 1O 2 3
D @ 1O G 2
Match the List-I with the List-II and
select the correct answer from the
codes given below :
List I

(Sub-systems)
Law
Family
Economy
Polity

(@)
b)
(c)
d)
List II
(Functions)
Adaptation
Goal attainment
(3) Integration
(4) Latency
Codes :
(@)
(A (2)
B) 3
) 3
D) 4)

(1
2)

(b)
(1)
(4)
(4)
3)

(c)
4)
(2)
1)
1)

(d)
3)
(1)
(2)
(2)

56.

57.
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Iqret I 31for et 11 Hefted SeehT=AT Sired

[ & e foeiean Hondiehiq A
Tatg e -
Trdr 1 (foamea)

HATATSERT

A
ot 1 (gftean)

TIEhaeh Jehrdarg
ERNENIREIRENR I
sTvaTtufted R
{:i{tHI("-IOh AP

(@)
®)
(c)
(d)

o 2} A

(D
@)
3)
)

(@ ) (© (@
A 2 @ O @
B B3 @ 1 @
@ 1 @ 3
D 4 1 3 @
Tre! fedd 99 1 ofrfor 1T Sesa
3IfO7 feeiel Hohelieh T8I SF 3T Sail

forar
IC{ |
(3U-U5a)
SRR
EXc

N

(@)
b)
(c)
(d) T THRHR
It 11
(=)
ESEILES

AT T
TehIeh{l
Al

(@) ()
A 2)
(B) 3) 4)
C) 3 @
D) 4) 3)

D
)
3)
@)

(c)
4)
(2)
(1)
(1)

(d)
3)
(1)
(2)
(2)
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58.

59.

“Glass ceiling” is the term used in
the context of :

(A) Occupational gender segregation
(B) Women’s promotion

(C) Job insecurity

(D) Emotional labour

Respondent’s name is changed
but location is not changed. This
suggests ......cceeeeeennnn. .

(A) Breach of faith

(B) Breach of morality
(C) Breach of anonymity
(D) Breach of promise

58.

59.
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‘R wd B THedl ETATAdE!
I Hewid aralell TR,

(A) fermeeamTar =eEEm favediso
(B) o=t ug=d

(C) =it STgRfarad

(D) wrEtsh oM

a1 Seee TR, W, fawhr
e el © .

(A) fogargmen <1 S
(B) Afderden @1 SO
(C) TIHehde TS ol
(D) TEAT

60. Which one of the following is not a | 60. TR ST STYehlaaRr= 9
part of post-modernism ? e ?
(A) Progress, universalism (A) lT"I?ﬁ, T Seharare
(B) Chaos, difference (B) Tﬁ%, g
(C) Fragmentation (C)
(D) Representation (D) gfaequ
61. f)‘;rflist organization is characterized | g1 wifde gueg Sy TR
(A) Standardization of commodities (A) 3T Tﬂ?ﬁ
(B) Decentralization of labour (B) #T ferpsieT
(C) Flexibility (C) asn:aw
(D) Tailor-made goods (D) :1‘;';{@%‘4 q«l” ‘ .
: S : : 62. =UAdI il ATAHId H¥2ATd Tehdl
P oeganisation mto e P G o 1 T 2
(A) Two zones (A) 39 &3
(B) Three zones (B) = &
(C) Four zones (C) =R &
(D) Five zones D) 9= &
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63.

64.

65.

Given below are two statements, one
is labelled as Assertion (A) and other
as Reason (R) :

Assertion (A) : Ambient air quality
of Delhi is deteriorating day by day.

Reason (R) : Stubble burning in
Panjab and Haryana affects air
quality in Delhi.

Select the correct answer from the
codes given below :

Codes :

(A) Both (A) and (R) are correct and
(R) is the correct explanation
of (A)

Both (A) and (R) are correct
but (R) is not the correct
explanation of (A)

(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

Which of the following methods has
been used by C. Geertz ?

(B)

(A) Participant observation
(B) Systematic observation
(C) Thick description

(D) Systematic description

H. Garfinkel’s work is associated
WIth oo, .

(A) Conversation analysis
(B) Content analysis
(C) Discursive analysis

(D) Discourse analysis

63.

64.

65.
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el g1 faum feorett o, T wfaue
(A) =TT TE HRO (R) FaEa 3R,

gfaurgs (A) : feerdfees foeef=n
ST ga= orerl s Bid 371,

HIUT (R) : Tog 301 sRamomasd
SMesudTd AR G- T feeei=an goer
gRom .

Tl foeiean FehdiehT=al MER 3T
I feren :

(A) TR (A) T (R) & SRS 3T 3101
(R) & (A) 9 e TIehiu 38

(B) =T (A) =701 (R) § SRISR 371,
g (R) ¥ (A) ¥ o0& S A

(C) (A) ® =R 3% (R) ¥ i 3T

(D) (A) T g 38 g (R) T TR
3

Tt T A TIeTerdeh! IVl JEE
IR hell 3T ?

(A) Hewrfl fiem
(B) gezateerd fitero
(C) HeM =ui

(D) geHafer oofq

TE. TRk 99 S

(A) Furoor fagersoT
(B) AWM fageto
(C) T=at fagersm
(D) wefoa fagerom
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66.

67.

68.

Gandhi’s notion of Antyodaya
refers to :

(A) Welfarism
(B) Assimilation of Harijan
(C) Inclusion of Harijan

(D) Rights to the bottommost
section

“Neoliberalism and rise of neo-
fundamentalist movements are
two sides of the same coin.” Who said
it ?

(A) M. Castells

(B) D. Harvey

(C) S. Sassen

(D) P. Bourdieu

Match List I with List IT and select
the correct answer from the codes
given below :

List I (Authors)
M. Foucault
A. Giddens
J. Habermas
P. Bourdieu

List II (Concepts)
Duality of structure

(a)
(®)
(c)
(d)

(1)
(2)
3)
(4) Ideal-speech situation
Codes :

(@)
A) (D
(B) 4)
©) @
D) 3)

Practice
Episteme

)
(2)
3)
(4)
(1)

(c)
3)
(2)
3)
4)

(d)
(4)
(1)
(1)
(2)

66.
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Mef=i A= HegHl

(A) ThheATIA

(B) eRs= we et

(C) TREHN AR

(D) HTeedld desl=d] EIEehlal Bk QUI

TISERATE & ToHerdelae! Heeeice =l
3CT_e ThE A0gr=Al S 9] 3,
€ iUl w"Id ?

(A) TH. HRZH
(B) . ®mEl
(C) TH. |™A

(D) . 59
I 1 i ==l 0 e i @t

feeied FehdiehmyA arg W e .

et 1 (@)

(@)
)
(c)
(d)

(1)
(2)
(3)
(4)
Hehdieh :
(a)
A
B) @)
C) 2
D) 3)

®)
(2)
3)
(4)
(1)

(c)
3)
2)
3)
4)

(d)
4)
(1)
(1)
(2)
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69.

70.

71.

72.

“Episteme” is ......ccccvvveeeeennn.

(A) Socio-historical method to
analyse impact of power on
discourse

(B)
(&)

Analysis of archeological forms

Unidimensional understanding
of pre-existing codes

(D) Framework of knowledge that
shapes discourse and helps in
specific understanding of the

world
Which of the following is a

characteristic of qualitative

methods ?

(A) Emphasis on the exploration of
meaning

(B) Emphasis on the precision of
data

(C) Emphasis on the exploration of
generalized central tendencies

(D) Emphasis on researcher’s
objectivity

Confidentiality does not

MEeAN ...ccceveeernnnnennn .

(A) Changing names

(B) Anonymity

(C) Protecting identity of
respondants

(D) Funders will have access to

respondants

The farmers’ movements by the
middle peasantry are mainly
concerned with ....................

(A) Redistribution of land

(B) Equal share to sharecropers
(C) Fair price for crops

(D) Getting rid of the middlemen

69.
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“rfre” wmu
(A) g Gufoder. Teu=ar 9
ToTeTooT IO \TATSTh - U qaTaeh

TGl
(B) A@ER! 3R fagersm
(C) o forermm Fohdrel Th3TrEH! STt

(D) S fa¥Ie Tehed {rodTel Hed
FHLOMA 307 I faaTed SRR
ETeterde! T[UTcH®  TgdTd

v ?

afeTeey

(A) 7 MYTGER W

(B) qeAT=Al STgehdal WX
(C) WH=IIghd HEAYdl TNLTIER W]

(D) WENEHRAT TSGR W

o n N

Il Al

(C) Wi qferd Iam
(D) YrESRTen gfaaRiadd 99 Qo

R ik BN oo o B (G e K [ IR R B e
TS AT I Hafud
3R,

(A) S gatey

(B) @esh=ar g9 feg

(C) fusmren arsEt forma

(D) HeFE gL HO
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73.

74.

75.

76.

When was the ‘National Cyber
Security Policy’ enacted in India ?

(A) 2007

(B) 2009

(C) 2011

(D) 2013

Ethnography implies :

(A) People are meaning makers
(B) Objective study

(C) Research people

(D) Proximity of researcher

Which was the report published by
the ‘Club of Rome’ in the context of
rise of green movements public
concern about environmental
problems ?

(A) Our Common Future
(B) The Limits to Growth
(C) Sustainable Development
(D) Green Peace

Which among the following is not
among the core objectives of India’s
Forest Rights Act, 2006 ?

(A)

Recognition of community forest
rights

(B)

Securing livelihood of the forest
community

(C) Empowerment of local self

government

(D) Empowerment of tribals
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‘Ted AR SRIREl dictEl’ ohel

i el ?

(A) 2007
(B) 2009
(C) 2011
(D) 2013

(A) @k Tgi=rd
(B) I3 3T

(C) TrehieR HEIEA

(D) weneehret Fehedr

TR YYATI oA /el Sforaq
3T el (fe@) WA eTeiem=n
Heuld ootel Sk U WehlfId ohota
STEATA HIUA ?

(A) TR AT H

(B) T fodey 2 Wy

(C) g9 SRATHS

(D) W= f=

T TeTdeh! IV HE YRArEl 99 §F9h
FHATT 2006 = T&A el ARl ?
(A) AR S BRI AT <0
Ml 01
(C) ¥ s Gl Sdhel Q01

(D) Mo Hacieh{u o]

o (al

(B) o HHSHAM 3USiifaehs]
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77.

78.

79.

80.

81.

For which one of sampling types
lottery method and Random
numbers are used for selecting the
sample ?

(A) Cluster sampling

(B) Multi-phase sampling

(C) Quota sampling

(D) Simple random sampling
Which of the following is not the
characteristic of informal economy ?
(A) Flexibility

(B) Casualization

(C) Homebased work

(D) Collective bargaining

Which of the following is not
analyzed

in post-modernist

research ?

(A) Chaos

(B) Gaps and silences

(C) Continuity

(D) Fragmentation

In an unstructured interview
....................... also need to be
interpreted.

(A) Photographs

(B) Reports

(C) Silences and pauses

(D) Scales

Whose work among the following
focussed on the “household dimension”
of the family ?

(A) Pauline Kolenda

(B) S.C. Dube

(C) K.M. Kapadia

(D) A.M. Shah
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el ggElt 3o Argfeseh A1 T Theh
fraei=n <9 Usdl Ereiedeh! v
TN free ggdmed smed ?

(A) g1 Tae aEdl

(B) wig&ia fee agdl

(C) = e st

(D) et Agfossw YA e ggdl
T teh! SO TR STLeqaed™
NSRS

NBSEIEEN

(B) HARIHIT

(C) =&l ™

(D) Hfesh HRars

MY fTepIcRarEl GYNEAT  Ereterdent
FIM faversur el S @ 2

(A) Tives

(B) 3R a HH
(C) HidaH

(D)
STERfEd Herrerda
St 31ef AT
(A) st

(B) 3fgdd

(C) wrcar emfor form

(D) STATIT

TeiTeTdeh! IV HTH o= “TRER
I’ R hfza o ?

(A) difed wreiet

(B) TH. ©. qd

(C) oh. TH. Hufsa

(D) W. UH. I8
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82. How ‘Forest Rights Act 2006’ | 82. ‘97 gk HIFGI, 2006’ AN * eAfardi=t
defines ‘Bonafide Livelihood Needs’ rdfaeh IUSHfaehl e’ e HeiRa
of tribals ? el e ?

(A) Fulfillment of livelihood needs (A) TR S SIEEARIESIE]L li&(“
of kinship groups (B) Td:=a1 U1 hdarea IuSifahi
(B) Fulfillment of livelihood needs T W
of self and fam_ﬂy, (C) ISRt AU ISR TSI gl
(C) Fulfillment of livelihood needs D) &8 ey 'j\'éi =1 e TS
and market needs Th[
D) Fl'llﬁllment of basic needs of all 83, T I anf =t 11 = e S
tribal groups 30T Tt feeied FehdmhMe A Ia

83. Match List I with List IT and select frae -
the correct answer from the codes ’ .
given below : . e 1 (fereme)

List I (Thinkers) (@) ¥ e
(@) Vandana Shiva (b) Ao S
(b) Flavia Agnes (c) ST SFRET
(¢) Bina Agarwal (d) T g
(d) Renana Jhabvala et 1T (9997)
List II (Issues) (1) femam@ sufor wrRT
(1) Gender and Law 2) f&r=n sfor ™
(2) Women and Work (3) UHTERUT THiaK
(3) Eco-feminism (4) famae snfor SHA ok
(4) Gender and Land Rights Hahdich :
Codes : @ ® © @
(@ & © () @ 1 @ @ @
Eg; &; g; g; E‘B B @ @ @ @
Y
D @ @ @O 3 ey o2 .
. . 84. T TIfE HIohe : BT TGN ST HichT

84. Who is the author of the book “The e TR %1" - g«ichla D
God Market : How globalization is A 2
making India more Hindu” ? A) qo;cm -

(A) Devdutt Pattanaik .
(B) Karen Armstrong (B) Eb—?‘:[ ST
(C) Austin Neill (C) 33ITFR‘FI B
(D) Meera Nanda (D) HRI 1
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85.

86.

87.

88.

89.

According to which sociologist,
‘rituals are sacred acts which
represent the religious beliefs’ ?
(A) Max Weber

(B) Emile Durkheim

(C) Edward Tylor

(D) Gerhard Lenski

The Dispersion of the Indians
beyond India is an example of :
(A) Diaspora

(B) Culture

(C) Habitus

(D) Network

Which one of the following is not
used as a measure of Gender
Related Development Index ?

(A) Life expectancy at birth

(B) Adult literacy rate

(C) Earned income

(D) Participation in work-force
Possession of attributes, like human
nature, agency, self-awareness
among other is defined as :

(A) Personhood

(B) Personality

(C) Embodiment

(D) Entitlement

Human Development Index (HDI)
measures the level of development
amongst various countries includes
the following set of indicators. Mark
the right answer :

(A) Health, Education and Income
(B) Freedom, equality and fraternity
(C) Equity, social justice and liberty
(D) Openness, freedom and equality

85.

86.

87.
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89.
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<hIUTT HHTSTYTSSIRITSA Ad, * S8 41 379m
qferst foran STama st = enfies fasaam
gfafHfaeE e’ ?

(A) o AR

(B) sfiet gr@™

(C) Tede TR

(D) TREE T=eh!

TR RATETRY. TER0T 80 § 3
I R ?

(A) TR TFRE

(B) H&Fl

(C) dferem

(D) et

TTeAterisht sior Tiee feamae fasees
EERIEACERC IS | F

(A) STFHMATEES TR T STrgHi
(B) g WERAl T

(C) THesel 3cq—

(D) SHRTEKiTde TEHE

et T, Sho a1, 3TcH SRRl SATf0T
T U WSO A HE WUCE ?
(A) AfRI

(B) ferma

(C) Hae&y

(D) @Fh

Teiierden! hiod e weeh fafay
T foehmar=a T JiemHTd et
fos e (HDI) shiad ?

(A) IR, fereor sufor 3ca—

(B) WA, HHMA ST Fge

(C) HHal, grHTfSTer =a o1 T
(D) HihosUuT, TG STOT THHAT
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90. Which of the following is not the

91.

92.

93.

characteristic of bureaucracy
according to Weber ?

(A) Specialization
(B) Flexibility
(C) Impersonality
(D) Hierarchy

Social networks can be described
as :

(A) Set of nodes and a set of ties
that connect some or all of these
nodes

(B) Social groups with defined

boundaries

(C)

Connections among individuals
overtime which result in social

bonds
(D) Informal organizations

Elite theory of power is developed
by :

(A) Pareto V.
(B) Parsons T.
(C) Engels F.
(D) Miliband R.

Which of the following statements
is not true about a custom ?

(A)
(B)
(&)

Custom is flexible
It is specific and clear

It emerges spontaneously
without any direction

(D) It needs a specialized institution

for enforcement

90.

91.

92.

93.

JUN - 14220/I1—B

IR, TTATATH] HITAT TLH
REaNIGECINED N |7

(A) forersiterton

(B) Serf<rehd

(C) sTrafeRmRal

(D) STE

TSI |t (Social Networks)

BN

(A) Tefr=n 9= 3nfvT Hee=n 99, e
Tl Tohal Td Seeh TehAhRIIN S
AT

(B) Tfv=a €1 19l @IS e,

(C) =ImEe 3™ Fa o hIcTaH
TS Syl giafda i

(D) A= ol

(A) T =

(B) w2

(C) Ted Th.

(D) fhefiele TR,

ETeledsh! v faem wgr=n Sl

T AE ?

(A) 9 T @Efae 3Ted

(B) v fafdre snfor wose svoard

(C) W= 3qd Sohd o Tawmée g5y
Bl

JAT STHASSAUITES @ TEI=
TR 3T

(D)
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94.

95.

96.

97.

In Sociology comprises the

social assets of a person (education,

intellect, style of speech etc.) that

promote social mobility in society.

(A) Cultural capital

(B) Professional capital

(C) Economic capital

(D) Symbolic capital

Symmetrical family refers to ..........

(A) Family transforms from joint to
Nuclear family

(B) Men are taking up family

responsibility

(C) Overtime, families becoming

the

and

more egaliterian in
distribution of roles
responsibilities

(D) Only women still continue to

bear family responsibility

In which census year data for slum

was collected for the first time in

India ?

(A) 1991

(B) 1981

(C) 2001

(D) 2011

Denotified tribes are also known

AS reeeeeereee e .

(A) Weavers

(B) Ex-criminal tribes

(C) Untouchables

(D) Scheduled tribes

94.

95.

96.

97.

JUN - 14220/I1—B

SEISNIE=IN TSI TTqHTer SerT

[y A= AT
TrerErn (e, gfgmm, St ugd
3.) gHET 2.

(A) TiEhfds aisdd

(B) &I gE diedd

(C) enféfer wreera

(D) Wichidsh WIEad

mﬁ_cﬁ_q. w .................... %, a.s.i\aﬁ‘

(A) FZa™ THA USAHST Healhs
BEZL

(B) &9 heaial SemeRr-al TiehRd
AR

(C) FHeardial Semegral 3o fhr
foroT FHaEE! B 3T

(D) wiee 3T[TR! hig(aeh SeTaRral
R Ured Sed

AT SRV ST ToA dfeeaal

giueuel fase mifedt Hehfad v

et ?

(A) 1991

(B) 1981

(C) 2001

(D) 2011

foqed ST

BT SIaTd.

(A) faoax

(B) qatsi=a TR A
(C) ITA

(D) ryfad S
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98.

99.

100.

Match List I with List II and select

the correct answer from the codes

given below :

List I (Authors)

Patricia Uberoi

Karuna Chanana

Pauline Kolenda

Leela Dube

List II (Books)

Women and Kinship

Regional Differences in Family

Structure in India

Interrogating

Education

Family, Kinship and Marriage

in India

Codes :
(a)

(A) (1)

(B) 4)

< 3 O @ @

D 2 @ 1 O

Widowhood reflects a structure of

control over all aspects of woman’s

life including her sexuality. Whose

views are these ?

(A) Maitrayee Chaudhuri

(B) Karuna Chanana

(C) Martha A. Chen

(D) Veena Das

Which project has been initiated by

the Government of India for creating

a cloud computing environment at

National level ?

(A) e-Bharat

(B) Megh Raj

(C) Project Arrow

(D) e-Kranti

(@)
(b)
(c)
(d)

(1)
(2)

3) Women’s
4)
b)

(2)
3)

(c)
3)
(2)

(d)
(4)
(1)

98.

99.

100.

JUN - 14220/11—B
et 1 31for Ire] 11 HeiteT SIeehT=a Sired

(el & @ faeiedl Hondiehiqd A
e et

Tt 1 (@)
TSfrsT SR
(b) HEA =
(¢) diAA =ierer
(d) feen ga

Tt 11 (YEieh)
foim sfve fohmefia
oa few8d 37 witell War
¥ fea
(3) S foid TSgehy™
(4) e, foreii ot WS 39 sfean
i

(@)
(A) (D)
(B) 4)
© 3 1 @ @
D 2 @ @O 3
Syem Frasomt ofeft §=T gied ww
1 = <ifitRd 98 Si= STgsar=
T 99 FHIfO® A, § fo=R ®iome
amed ?
(A) Hem e
(B) SEUM =TI
(C) #ul T =1
(D) =fton TE
T TAceR. FATHE RPN Hewid
AR TR HIOAHET RA HRRA
VA Yohed TR Shall 3T ?
(A) 3-9Rd
(B) HEUS
(C) ¥ehed 3T
(D) Z-3hId

(@)

(1)
2)

®)
(2)
3)

(c)
3)
(2)

(d)
4)
(1)
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